Christmas Problem Solving

Draw

Tina got $9 for Christmas. She spent $5.

How much of her Christmas money does Tina have left?

Draw
There were /7 presents under the tree. The family opened & of them.

How many presents were left under the tree?

Draw

Daisy left a plate with 8 cookies out for Santa. When she

I

+ @) woke up, there were only 1 cookies left.

How many cookies had been eaten”?

Draw
7 decorations were hanging. 3 fell down

How many decorations were left hanging? ) 'EE['
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Christmas Problem Solving Answers

Tina had $9 in her piggy bank. She spent $5.

How much money does Tina have left?

Tina has $4 left.

Draw

There were 7 presents under the free. The family opened & of them.

How many presents were left under the tree?

Drow

5 Daisy left a plate with 8 cookies out for Santa. When she
<
woke up, there were only 4 cookies left.

How many cookies had been eaten”?

4 cookies had been eaten.

Draw

7 decorations were hanging. 3 fell down

How many decorations were left hanging? ) 'EE['

4 decorations were left.
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